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1. 71 & @ &1 g anffan foRam 7@T & (Which of the following is not an economic  activity)

a) a¥ga3ii o1 ITe ( Production of goods )
b) a¥gsit @1 &R ( Trading in goods )
c) ustex ¥ar ( Professional Services )
d) 9Tt dar (Social Service )
2. " HigH & Hifd Faarg it 9¢g gAR T1Y I8dT ¢ " I8 hU fhaapr &2 (“ Business like weather is with

us everyday. " Who said this out of the following? )

a) & (Haney)
b) it (Marshal )
c) ek (Wheeler)
d) smeetisra (Batliboi)
3. AT STRIH g Y T1a=T 1! gidt & ( Business risk is not likely to arise due to )-

a) IR ifd # gRad= ¥ ( Changes in government policy )
b) o= ey ¥ ( Good management )
c) HaTRAl &Y I5HT & ( Employee dishonesty )
d) fasTelt T 89 & ( Power failure )
4. Tforsg (Commerce)-

a) a9 &1 31T 8 (is a part of business)

b) &R @ 3T § (is a part of trade)

c) &N &1 3T ¢ (is a part of industry )

d) Iwg<h gt (All of the above)
5.@= & (Miningis a/an)-

a) S 3T ( Genetic industry )



b) faseye & ( Extractive industry )
c) IGTHS I&NT ( Constructive industry )
d) fA=foft Iem ( Manufacturing industry )
6. fo=1 & spi=-a1 fafemfor I&iT 2( Which of the following is manufacturing industry?)

a) Y94 99T ( Construction of buildings )
b) ge &A1 ( Construction of bridges )
c) dt &= ( Manufacture of sugar)
d) ¥geh 99T ( Construction of roads )
7. fe=g uiRatRer sagara 7 sraf &1 1R gaT 8 ( The liability of ' Karta ' in the Hindu Family business

IS e ) -

a) A (limited)

b) SR (unlimited )
c) T A T8l (None)
d) Tt (All)

8. ggahI! TR ol USTa AT & ( Registration of Co-operative society is ) —

a) SifAarf (Compulsory )
b) e (Optional )

c) SIaTeh (necessary )
d) SMTEeh (unnecessary )

9. fFfafed # o= gurt &1 Sifderan fga &R Tahar € ? (Which of the following is capable of doing
maximum good to society)-

a) AT Gtherd! ( Business success )
b) eI a Ifafae (Laws and regulations )
c) =fdar ( Ethics )
d) ©¥aR us=e ( Professional management)
10. Teh I I Teh 3 ANTR bl Jifd SagR AT A1eT | Tg fohdeh Ufa ITRaT &l 318707 § ( That

an enterprise must behave as a good citizen is an example of its responsibility towards :)

a) g (Self)
b) @R ( Government )
c) IUwIAT (Consumers)
d) ursT ( Community )
11. ITg] FfdenvoT < Uepfd & (Nature of outsourcing is)-

a) U™ & TG ( Enhancement of business )
b) 3= TuTa arelt arg (High quality services )
C) IdH THY h 3aTehdl ( Need of present time )
d) Ik g+t (All of the above )
12. SHfEHYUl FIH o oIy ad WTa o A ¥ Y o6l JA1d dheAT d1igy? (Which form of business

organisation should be choosen for a risky business)

a) Uahd W@itid (Sole Proprietorship)



b) Tg<h guit atett eheusT (Joint Stock Company)

c) TRt (Partnership)
d) Iy fe=g ulRatRes sgredma( Joint Hindu Family Business)
13. it Iuehd H 3icheToT ST & (In a private enterprise audit is )—

a) Ufe (Optional)
b) sifHard (Compulsory)
3TgTH (Unnecessary)

c)
d) s ¥ &5 A8l (none of the above )
14. Iresii-h 3UhH T WTHT gidT & (Owner of Public Enterprises is )-

a) g fg=g ulRar (Joint Hindu Family)
b) WHR (Government)
c) fadsft ot (Foreign Company)
d) fasit Ierft (Private Entrepreneur)
15. YRd B s-feog &1 9fasg g( Future of E-business in India is)-

a) Jvedd (Bright)
b) sigrerR (Dark)
c) 9= (Normal)
d) Su=i<h 9ot (All the above)
16. FTEST-ch chu-t H JIAdH Tl hl T&IT T gidT 82 (What is the minimum number of members in

a public company?)

a) 2
b) 5
c) 7
d 1
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17. Qaifen<l ST ehl ATYRUTAT ( Preference Shareholders have normally ) —

a) #d & &1 SR T8l 11 & ( No Voting Rights )
b) ifid #a & T SifdeR glaT 8 ( Limited Voting Rights )
c) gof AarfdeR g1 8 ( Full Voting Right )
d) s ¥ &5 A8l (none of the above)
18. SFoT <ht oft fafea fgwd & fawifSia gidt 8, e fg® &l @gd & ( The capital of company is

divided into number of parts each one of which are called .

a) 321 ( Share)
b) =<1 (Interest)
c) orHier ( Dividend )
d) &9 ( Profit)
19. 3ftenfies fa= 7™ § (Industrial Finance Corporation is a )-

a) 9rasie 7 ( Public Corporation )
b) WRHRY wHAT ( Government Company )
c) faurfaIusa ( Departmental undertaking )

d) s ¥ &5 78T ( None of these)
20. SIEITE hFoT T &3 8 ( The Scope of Multinaional Company is) -



21.

22. 1 # @ 1 gk sifchTT o Siarta s1rar 8(Which of the following come under electronic banking?)

a) I (Local)
b) I (National )

c) ST=RIEN (International )
d) s @ &5 78l ( None of these )

[T o g Ted Su<h @1dT (The most suitable account for a businessman is)-

a) T8 5T @rar (Fixed Deposit Account)
b) =meg @TdT (Current Account)

c) =Id @rdr (Savings Account)

d) = @ 9+ft (all of these)

a) saael-e the g (Electronic fund transfer)
b) eTfera ¢ek AMA (automatic teller machine)

c) sfde®rE (debit card)
d) Sk Tt (all the above)

23. 31 off\y di srafd gidt & (The period of fire insurance is)-

a) 1ay (1 year)

b) 2@t (2 years)

c) 3ay(3years)

d) orfifAa s@fd(unlimited period)

24. J1\1 1 JAYd 389 BT 8(Primary object of insurance is)-

a) o9 AT (profit earning)

b) efagfe (indemnity)

c) s (investment)

d) SWRIh # ¥ &5 A8l (none of the above)

25. 9Rd # Tteulee Jqraii a1 TR g3 o7 (Speed Post services started in India in)-

a) 1911
b) 1972
c) 1975
d) 1986

26. 3R # $e=A¢ &1 IUANT gial & (In India internet is used)-

27. HSR[E fohd UehR o IUTMIAT T goi=1 ehdl 82 (Which type of utility is created by warehouses?)

28. <fter 1@ aEgSHT ol YRIGT @A arel HERTE ¢ (the warehouse where highly perishable goods are kept

a) Yehrerdl | (in libraries)

b) fayfaemert # (in universities)

c) dl # (in banks)

d) SWRi<h a4t STt H(in all the above)

a) &I IUAEr (Place utility)
b) THg ITTIET (time utility)
c) ¥U IuAIrEr (form utility)
d) dar Iugifirai(service utility)

safely)-

a) PRI HERIE (Government warehouse )



b) sk SRS (bonded warehouse)
c) <fid ¥SRE (cold storage)
d) urdsie YeRTE (public warehouse)
29. 3T g1 §(Shareholders of a company are)-

a) w@rH (owners)
b) kurerdr (creditors)
c) &R (debtors)
d) IwRik Tt (all the above)
30. oIt WR f&ar St € (Paid on debentures)-

a) =Si(Interest)
b) feRRmam (rent)
c) i (dividend)
d) & (profit)
31. 3ixnt & e or Ut fa=1 & (Finance received on the issue of shares is)-

a) offd sreentett=T (Very short term)
b) steUaTet (Short term)
c) AT (medium term)
d) Erfeptefi (long term)
32. 1 & @ o9 ddfoid et faam & ¥g/a & (which of the following is helpful in balanced regional

development)-

a) <rd 3T awd (large scale business)
b) oY =gadr™ (small business)
c) @hufar (companies)
d) SWIk # ¥ &ls Tal (none of the above)
33. T/ ¥ oI °T @Y IeINT ohl gHer g1 &2 (Which of the following is not a problem of small industries?)

a) 9udra fa< (inadequate finance)
b) uffera seemRaf @1 ere1a (lack of trained persons)
qR7oft HiEfRI(Old technology)
d) T AR (Local demand)
34. G ATAR ATel o= ¢ (Retailer sells goods to)-

a) IUWHTSH dY(consumers)
b) IaTEal @t (producers)
c) i amIRAt &t (wholesalers)
d) Yoo ikl @t (retailers)
35. W d1SIR IaT60T 8 (Super bazaars are examples of)-

a) faumfig «ieRi &1 (departmental stores)
b) STch GRT ATAR (Mail order business)

c) wgHEad gl af (multiple shops)
d) Grtlﬂ?ﬁ # 9 i3 T8l (none of the above)
36. fawrfia «eRY o1 5= foee <21 & gam 412 (In which of the following countries departmental stores were

originated?)

a) Wid( France)

b) gwig (England)

c) MR America)
d) ¥Rd (India)



37. S i Wi Ffd @eat g(Mate’s receipt is issued by)-

a) SIgIST <l St (Captain of ship)
b) SmaTdeRdr (Importer)
c) frafaamat (Exporter)
d) wy=Est (Prime minister)
38. fafa ufehar SR gt & (export process starts from)-

a) Sigrell faedt @ (By bill of Lading)
b) Zse & (By Indent)
c) G Ul & (By charter Party)
d) o & efig (By Mate’ Receipt)
39. 59 omard , fata & gen 7 Sifdes g to @mUR g 8 (When import exceeds the export than

balance of trade will be)-

a) 3% (Favourable)
b) ufdedet (Unfavourable)
c) I (Normal)
d) S (Zero)
40. I don dt wITTAT T g2 ofi? (When was the World Bank established?)

a) 1945
b) 1944
c) 1932
d) 1940



